





1. Consider the following statements :

1. The Governor of the Reserve Bank
of India (RBI]) is appointed by the
Central Government.

2. Certain provisions in the
Constitution of India give the
Central Government the right to
igsue directions to the RBI in publlc
interest.

3. The Governor of the REl draws his
power from the RBI Act.

Which of the above statements are
cerrect?

fa) 1 and 2 only
() 2 and 3 only
fc} 1 and 3 only
{d) 1,2 and 3

With reference to casual workers
employed in India, consider the
following statements :

l. All casual- workers are cntiticd
for Employees Provident Fund
coverage.

2. All casual workers are entitled
for regular working hours and
overtime payment.

3. The government can by
a notification specify that an
establishment or industry shall
pay wagces only through its bank
account,

Which of the above statements are
correct?

{a} 1 and 2 only
{b) 2 and 3 only
{c/ 1 and 3 only
{d} 1, 2 and 3
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3. Which among the following steps is

most likely to be taken at the time of
an economic recession?

fa) Cut in tax rates accompanied by
increase in interest rate

(b) Increase in expenditure on publle
projects

fc) Increase in tax rates accompanied
by reduction of interest rate

{d} Reduction of expenditi.lre on public
projects

4. Consider the following statementa :

Other things remaining unchanged,
market demand for a gsod might
increase if

1. priee of its substitute increases
2. price of its complement increaees

3. the good is an inferior good and
income of the consumers increases

4. its price falls

Which of the above statements are
correct?

fa} 1 and 4 only
{b) 2,3 and 4
fc) 1, 3 and 4

(@ 1,2 and 3
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8. With referenco to Urban Cooperative

Banks’ in India, consider the following
statements :

' .

1. They arc supervised and regulated
by local boards set up by the
State Governments.

2. They can issue equity shares and
preference shares,

3. They were brought under the
purview ef the Banking Regulation
Act, 1949 through an Amendment
in 1966.

Which of the statements given above
is/are correct?

faj 1 only

(b} 2 and 3 only

f¢) 1 and 3 only

fdj 1,2 and 3

6. Indian Government Bond Yields are

influenced by which of the following?

1, Aetions of the United States
Federal Reserve

2. Actions of the Reserve Bank of
India

3. Inflation and short-term interest
rates

Select the correct answcr using the
code given below.

fa} 1 and 2 only
{b) 2 only

{ci 3 only

fd 1, 2 and 3
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7. Consider the following :

1. Foreign currency convertible bonds

2. Foreign institutional investment
with certain conditions

3. Global depository receipts

4. Non-rssident external deposits

Which of the above can be included in
Foreign Direct Investments?

fa) 1,2 and 3
{b) 3 cnly

{c/ 2 and 4
{d} 1 and 4

B. Consider the following statements :

The effect of devaluation of a ourrency
is that it necessarily

1. improves the competitivencss of
the domestic exports in the foreign
markets

2. increases the foreign value of
demestic currency

3. improves the trade balance

Which of the above statements is/are
correct?

fa) 1 only
b} 1 and 2
fc} 3 only
(d) 2and 3
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9. Which one of the following effectz of
creation of black money in Indla has
been the main cause of worry to the
Government of India?

{a) Diversion of rcsources to the
purchase of real estate and
investment in huxury housing

(b} Investment in unproductive
activities and purchase of precious
stones, jewellery, gold, cte.

{c} Large donations to polltical parties
and growth of regionalism

(d) Loss of revenue to the State
Exchequer due to tax evasion

10. Which one of the following is likely to
be the most inflationary in its effects?

{a) Repayment of public debt

(b} Borrewing from the puhlic to
finance a budget deficit

{c} Borrowing from the banks to
finance a budget deficit

{d} Creation of new money to finance
a budget deficit
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11. The money multipller in an economy
increases with which one of the
following?

(a}

)

fc}

(d)

Increase in the Cash Reserve Ratio
in the banks

Increase in the Statutory Liquidity
Ratic in the banks

Increase in the banking habit of
the people

Increase in the population of the
country

12. With reference to Indian  economy,
demand-pull inflation can be caused/
increased by which of the following?

1.

2.

Expangionary pollcies
Fiscal stimulus
Inflation-indexing wages
Higher purchasing power

Rising interest rates

Select the correct answer using the
code given helow,

(a)

)

fc)

(d)

1, 2 and 4 only
3, 4 and 5 only
1, 2, 3 and S5 only

1,2, 3,4and 5
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17. Why is there a concern about copper
smelting plants?

1. They may release lethal
quantities of carbon monoxide
into environment.

2. The copper slag can cause the
leaching of some heavy metals
into environment.

3. They may release sulphur dioxide
as a poilutant.

Select the correct answer using the
code given below.

I

fa) 1 and 2 only
{8) 2 and 3 only
(c) 1 and 3 only
(d 1,2 and 3

18. With referenco to furnace oil, consider
the foilowing statements ;

I. It is a product of oil refineries.

2. Some industries use it to generate
power.

3. Its use causes sulphur emissions
into environment,

Which of the statements given above
are correct?

fa) 1 and 2 only

{8} 2 and 3 only
fe/ 1 and 3 only

{d) 1,2 and 3
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19,

What is blue carbon?

fa) Carbon captured by oceans and
coastal ecosystems

(b) Carbon sequestered in forest
biomass and agricultural soils

{c) Carbon contained in petroleum and
natural gas

{d) Carbon present in atmosphere

20. In the nature, which of the following

is/are most likely to be found surviving
on a surface without soil?

1. Fem

2. Lichen

3. Moss

4. Mushroom

Sclect the correct answer using the
code given below.

fa} 1 and 4 only

(6) 2 only

f©) 2 and 3

d) 1,3 and 4
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21. Which one of the following is used in 24, With reference to the New York
preparing a natural mosquito repellent? Declaration on Forests’, which of the
following statements are correct?

1. It was first endorsed at the United
Nations Climate Summit in 2014.

{a} Congress grass
{b) Elephant grass

fc) Lemongrass 2. It endorses a giobal timeline to end
{d) Nut grass _ the joss of forests,

3. Itis a legally binding international

22. Consider the foilowing kinds of declaration,
organisms : 4. It is endorsed by governments,
big companies and indigenous

1. Copepods communities.
2. Cyanobacteria 5. India was one of the signatories
3. Diatoms . at its inception.
4. Foraminifera Select the cotrect answer using the

. code given below,
Which of the above are primary

producers in the food ehains of oceans? fa) 1,2 and 4
I, 3 and 5
fa) 1 and 2 ()
() 2 and 3 {c/) 3 and 4
(d) 2 and 5
fcg 3 and 4
{d 1 and 4 25. Magnetite partieles, suspected to

cause neurodegenerative problems, are
goncrated as environmental pollutants

23. Consider the following animals ; from which of the foilowing?

1. Hedgehog 1. Brakes of motor vehicles

2. Marmot 2. Engines of motor vehicles

3. Pangolin 3. Microwave stoves within homes

To reduce the chance of being captured 4. Power plants

by predators, which of the above 5. Telephone lines

organisms rolls up/roll up and protects/ )

protect its/their vulnerable parts? Sclect -thc cerrect answer using the
code given below,

fa) 1 and 2 fa 1,2, 3 and 5 only

b} 2 only : (b 1,2 and 4 only

fc) 3 only fc) 3, 4 and 5 only

fd) I and 3 (d} 1,2, 3,4and 5
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91. Under the Indian Constitution,
concentration of wealth violatea

fa) the Right to Equality

(b} the Directive Principles of State
Policy

fc) the Right te Freedom

(d) the Concept of Welfare

92, What is the position of the Right to
Proporty in India?

(a} Legal right available te citizens only

{b) Legal right available to any person

{/ Fundamental Right available te
citizens only

{d) Neither Fundamental Right nor
legal right

93. What was the exact constitutional status
of India on 26th January, 19507
fa) A Democratic Republic
fb) A Sovereign Democratic Republic

fc) A Sovereign Secular Democratic
Republic

(d) A Sovereign Socialist Secular
Democratic Republic

BXC-U-FTHI/68A

94. Constitutional government means

(a) a representative government of
a nation with federal structurse

{b) a government whosc Head enhjoys
nominal powers

¢} a government whose Head enjoys
real powers

{d) a government limited by thc terms
of the Constitution

95. With refersnce to India, the terms

‘Halbi, Ho and Kui’' pertain to

(aj dance forms of Northwest India
(b) musical ingtruments

{c) pre-historic cave paintings

{d} tribal languages

96. Consider the following statements in

reapect of Bharat Ratna and Padma
Awards :

1. Bharat Ratha and Padma Awards
are titles under the Article 18(1) of
the Conatitution of India,

2. Padma Awards, which were
ingtituted in the year 1954, were
suspended only once.

3. The number of Bharat Ratna
Awards is restricted to a maximum
of five in a particular year.

Which of the above atatements are
not correct?

fa) 1 and 2 only
fb} 2 and 3 only
fcg 1 and 3 only
(d) 1,2 and 3
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97. Consider the following statements :

Statement 1 ;
The United Nations Capital
Development Fund (UNCDF) and
the Arbor Day Foundation have
recently recognized Hyderabad as
2020 Trec City of the World.

Statement 2 :
Hyderabad was selected for the
recegnition for a year following its
commitment to grow and maintain
the urban forests.

Which one of the following is correct in

respect of the above statements?

fa} Both Statement 1 and Statement 2
are correct and Statement 2 is the
correct explanation for Statement 1

fb) Both Statement 1 and Statement 2
are correct but Statement 2 is
not the correct explanation for

~ Statement 1

(c) Statement 1 is correct but

. Statemcnt 2 is nct correct

{d} Statement 1 is not correct but
Statement 2 is correct

98. Consider the following statements in

respect of ‘the Laureus World Sports

Award whiech was instituted in the

year 2000 :

1. American golfer Tiger Woods was
the first winner of this award.

2. The award was received mcstly by
‘Formula Onc’ players so far,

3. Roger Federer received this award
maximum number of times
compared to others.

Which of the above statements are

correct?

(@) 1 and 2 only

(b) 2 and 3 only

¢/ 1 and 3 only

id) 1,2 and 3

BXC-U-FTH1/68A

99. Consider thc following statements in

respect of the 32nd Summer Olympice :

1. The official motto for this Olympics
is ‘A New World’.

2. Sport Climbing, Surfing,

Skateboarding, Karate and
Baseball are included in this

Olympics.

Which of the above statements is/are
correct?

fa) 1 only

(b) 2 only

fc) Both I and 2

{d} Neither 1 nor 2

100. Consider the following statements in

respect of the ICC World Test
Championship :

1. The finalists were decided by the
number of matches they wen.

2. New Zealand was ranked ahead
of England becauce it won more
matohes than England.

Which of the above statements is/are
correct?

fa} 1 only

(b} 2 enly

fcj Both 1 and 2

(c) Neither 1 nor 2
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